Microeconomics II

Homework#2
Spring 2009
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I. Multiple choice questions
01) One difference between a monopoly and a competitive firm is that 

A) only a monopoly is a price taker. 

B) only a monopoly maximizes profit by setting marginal revenue equal to marginal cost. 

C) only a monopoly faces a downward sloping demand curve. 

D) None of the above. 

Answer: C 

02) If the inverse demand curve a monopoly faces is p = 100 - 2Q, and MC is constant at 16, then maximum profit 

A) equals $336. 

B) equals $882. 

C) equals $1,218. 

D) cannot be determined solely from the information provided. 

Answer: D 

03) The fact that a monopoly has to take the shapes of marginal cost AND marginal revenue into account when making decisions is reflected in the fact that 

A) monopolies don't have a  supply curve. 

B) monopolies don't have a demand curve. 

C) monopolies have the same supply curve as perfectly competitive firms. 

D) monopolies maximize profit. 

Answer: A 
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04) The above figure shows the demand and cost curves facing a monopoly. At the profit-maximizing price, the elasticity of demand equals 

A) -1. 

B) zero. 

C) infinity. 

D) -3. 

Answer: D 

05) The above figure shows the demand and cost curves facing a monopoly. A $100 per unit tax would raise price by 

A) $100. 

B) $50. 

C) $25. 

D) $0. 

Answer: B 

06) The above figure shows the demand and cost curves facing a monopoly. The deadweight loss of this monopoly is 

A) $100. 

B) $250. 

C) $1,250. 

D) $2,500. 

Answer: C 

07) Which of the following total cost functions suggests the presence of a natural monopoly? 

A) TC = 2Q 

B) TC = 100 + 2Q 

C) TC = 100 + 2Q2 

D) All of the above. 

Answer: B 

08) Which of the following conditions must be true so that a firm can price discriminate? 

A) There are no other firms in the market. 

B) The good is a non-durable. 

C) The good cannot be easily resold. 

D) All of the above. 

Answer: C 

09) Perfect price discrimination is
 

A) realistic. 

B) practiced by many firms. 

C) a purely theoretical possibility. 

D) very common. 

Answer: C 

010) When a firm has a monopoly in a market and also perfectly price discriminates, total welfare 

A) is maximized. 

B) is lower than in a perfectly competitive market. 

C) is higher than in a perfectly competitive market. 

D) is minimized. 

Answer: A 

011) If a monopoly charges higher prices to consumers who buy smaller quantities than to consumers who buy larger quantities, then 

A) consumers that buy larger quantities have a higher price elasticity of demand. 

B) consumers that buy larger quantities have  a lower price elasticity of demand. 

C) consumers that buy smaller quantities have  a lower price elasticity of demand. 

D) Both A and C. 

Answer: D 

012) If two identifiable markets differ with respect to their price elasticity of demand and resale is impossible, a firm with market power will 

A) set a higher price in the market that is more price elastic. 

B) set a lower price in the market that is more price elastic. 

C) set price so as to equate the elasticity of demand across markets. 

D) set price equal to marginal cost in both markets. 

Answer: B 

013) If somebody posing as a vacationer were able to purchase large numbers of airline tickets from the airlines and later resell them to business travelers, 

A) multimarket price discrimination on the part of airlines would no longer be profitable. 

B) multimarket price discrimination on the part of airlines would no longer be profit maximizing. 

C) the airlines would respond by raising further the price charged to business flyers. 

D) this person would not earn any economic profit. 

Answer: B 

014) At the current price of a good Al's consumer surplus equals 8 and Ben's consumer surplus equals 15. By charging a two-part tariff a monopolist could increase his profit by 

A) 8. 

B) 16. 

C) 15. 

D) 30. 

Answer: B 

015) Suppose all individuals are identical, and their monthly demand for Internet access from a certain leading provider can be represented as p = 5 - (1/2)q where p is price in $ per hour and q is hours per month. The firm faces a constant marginal cost of $1. The profit maximizing two-part tariff yields results in the firm selling 

A) 4.5 hours. 

B) 10 hours. 

C) 5 hours. 

D) 8 hours. 

Answer: D 

II. Problem

1.(ch11 Q24)

1. The inverse demand curve that a monopoly faces is P=100-Q. The firm’s cost curve is C(Q)=10+5Q. What is the profit-maximizing solution? How does your answer change if C(Q)=100+5Q?

Ans:

Set MC = MR and solve:
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 the answer does not change because marginal cost is still 
[image: image4.wmf]5,

MC

=

 and therefore the profit-maximizing condition is still the same.

2.(ch11 Q38)

2. In 1996, Florida voted on (and rejected) a 1¢-per-pound (τ= $ 0.01) excise tax on refined cane sugar in the Florida Everglades Agricultural Area. Swinton and Thomas (2001) used linear supply and demand curves (based on elasticities estimated by Marks, 1993) to calculate the incidence from this tax given that the market is competitive. Their inverse demand curve was p=1.787-0.0004641Q, and their inverse supply curve was p= -0.496+0.00020165Q. Calculate the incidence of the tax that falls on consumers (Chapter 3) for a competitive market. If producers joined together to form a monopoly, and the supply curve, what is the incidence of the tax? (Hint: The incidence that falls on consumers is the difference between the equilibrium price with and without the tax divided by the tax. You should find that the incidence is 70% in a competitive market and 41% with a monopoly.) Draw the figures of competitive and monopoly markets. 
Ans:
In the competitive case, equilibrium is found by equating supply and demand curves, D = S:
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Then 
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Once the specific tax 
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 is imposed, the supply curve, which is also MC, shifts up (see Figure 11.17a). To find the after-tax equilibrium, we solve
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This suggests that tax incidence in the case of competition is
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In the monopoly case, pretax profit-maximizing output and price levels are found by equating MC and MR (see Figure 11.17b). Marginal revenue is
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Marginal cost is the same as in the competitive case. Then, MR = MC means that
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After specific tax 
[image: image12.wmf]t

is imposed, MC shifts to MC( and monopoly chooses output that satisfies the following condition
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Tax incidence on consumers in the case of monopoly is 
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Figure 11.17
3.(ch12 Q36)

3. A monopoly sells its good in the United States, where the elasticity of demand is -2, and in Japan, where the elasticity of demand is -5. Its marginal cost is $10. At what price does the monopoly sell its good in each country if resales are impossible?

Ans:
Using Equation 12.2,

pUS (1 – 1/2)  10  pJ (1 – 1/5)
pUS  $20,      pJ  $12.50.
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